
•	 Vis à bois à tête plate fraisée 	 D1
•	 Vis à bois à tête plate fraiseuse	 D2
•	 Vis à bois tête wafer (CAB MAXX)	 D3
•	 Vis à bois à tête ronde avec rondelle	 D3
•	 Vis à bois à tête fraiseuse	 D3
•	 Vis à tête bombée	 D4
•	 Vis Euro	 D4
•	 Boulon mécanique	 D5
•	 Pointe de tournevis Robertson 	 D6
•	 Biscuit de bois	 D7
•	 Équerre et ferrure	 D7
•	 Serre-joint 	 D7
•	 Boulons d’assemblage	 D8
•	 Boulons d’assemblage	 D9
•	 Boulons d’assemblage	 D10
•	 Boulons	 D11
•	 Écrous	 D11
•	 Attaches en «Z»	 D12
•	 Cache-vis	 D12
•	 Goujon	 D13

SECTION DMATÉRIEL D’ASSEMBLAGE

TABLE DES MATIÈRES

DI



DII



•	 Flat head countersunk wood screws	 D1
•	 Self-countersinking flat head wood screws	 D2
•	 Wafer head wood screw (CAB MAXX)	 D3
•	 Round washer wood screws	 D3
•	 Countersunk wood screws	 D3
•	 Pan head screws	 D4
•	 Euro screws	 D4
•	 Machine screws	 D5
•	 Screwdriver bits	 D6
•	 Joint Fastener	 D7
•	 Wood biscuit	 D7
•	 Steel brackets	 D7
•	 Junction bolts	 D9
•	 Nuts	 D11
•	 Bolts	 D11
•	 "Z" clips	 D12
•	 Screw covers	 D12
•	 Dowels	 D13

TABLE OF CONTENTS

HARDWARE 
AND DECORATIVE 
PRODUCTS

DIII

SECTION DASSEMBLY PARTS





Flat head countersunk wood screws
Vis à bois à tête plate fraisée 

Nº d’article
 Product number 

Longueur
Length

Pointe
Bit

Fini
Plating Type

Caisse 
Box

VIS-RO-585-LR-PZ 5 x 5/8" nº 1 Zinc Lo-root 15 000

*Z-VIS-RO-586-LR-PP 6 x 5/8" nº 1 Lub Lo-root 15 000

VIS-RO-586-LR-PZ 6 x 5/8" nº 1 Zinc Lo-root 15 000

VIS-RO-586-2-LR-PZ 6 x 5/8" nº 2 Zinc Lo-root 15 000

VIS-RO-587-2-WT-PZ 7 x 5/8" nº 2 Zinc
Taraudeuse à bois

Wood Tapping
15 000

VIS-RO-16-PZ 6 x 1" nº 1 Zinc
Taraudeuse à bois

Wood Tapping
10 000

VIS-RO-126-LR-PZ 6 x 1/2 nº 1 Zinc Lo-root 10 000

Nº d’article
 Product number 

Longueur
Length

Pointe
Bit

Fini
Plating Type Caisse 

Box
VIS-RO-1188-LR-PZ 8 x 1 1/8" nº 2 Zinc 2/3 Lo-root 8 000

*VIS-RO-1146-LR-PP* 6 x 1 1/4" nº 1 Lub 2/3 Lo-root 8 000

*VIS-RO-1148-LR-PP* 8 x 1 1/4" nº 2 Lub 2/3 Lo-root 7 500
*VIS-RO-1126-LR-PP* 6 x 1 1/2" nº 1 Lub 2/3 Lo-root 7 000
VIS-RO-1346-LR-PP 6 x 1 3/4" nº 1 Lub 2/3 Lo-root 5 000
*VIS-RO-28-LR-PP* 8 x 2" nº 2 Lub 2/3 Lo-root 3 500

*VIS-RO-2128-LR-PZ* 8 x 2 1/2" nº 2 Zinc 2/3 Lo-root 2 500
VIS-RO-38-LR-PP 8 x 3" nº 2 Lub 2/3 Lo-root 1 500

VIS-RO-38-LR-PZ 8 x 3" nº 2 Zinc 2/3 Lo-root 1 500
VIS-RO-48-LR-PZ 8 x 4" nº 2 Zinc 2/3 Lo-root 1 500

Nº d’article
 Product number 

Longueur
Length

Pointe
Bit

Fini
Plating Type

Caisse 
Box

*VIS-RO-586-LRR-PZ* 6 x 5/8" nº 1 Zinc Lo-root  recex 15 000

VIS-RO-18-LRR-PZ 8 x 1" nº 2 Zinc Lo-root  recex 10 000

RO
B

E
R

T S O N   S C R U
LO

X
                  

  
  

  
  

   

S C R E W S
Vis Robertson tête plate fraisée, filet Lo-root 

Tête plate fraisée Robertson filet 2/3 Lo-root 

Robertson Recex flat head countersunk screws with Lo-root thread

Robertson flat head countersunk screws with Lo-root thread

Robertson flat head countersunk screws with 2/3 Lo-root thread

Tête plate fraisée Recex Robertson filet Lo-root 

Mise à jour / Updated 06-2018

 D1

*Sur commande / On request

T 1 800 567-5201       F 1 800 567-5208       ventes@rocheleau.ca     sales@rocheleau.ca     ROCHELEAU.CA

MATÉRIEL D’ASSEMBLAGE
ASSEMBLY PARTS



Nº d’article
 Product number 

Longueur
Length

Pointe
Bit

Fini
Plating Type Caisse 

Box
VIS-RO-18-LRS-PP* 8 x 1" nº 2 Lub Lo-root  10 000

VIS-RO-1188-LRS-PP 8 x 1 1/8" nº 2 Lub Lo-root 8 000

VIS-RO-1188-LRS-PZ 8 x 11/8" nº 2 Zinc Lo-root 8 000

VIS-RO-1146-LRS-PZ 6 x 1 1/4" nº 1 Zinc Lo-root 8 000

VIS-RO-1148-LRS-PP 8 x 1 1/4" nº 2 Lub Lo-root 8 000

VIS-RO-1148-LRS-PZ 8 x 1 1/4" nº 2 Zinc Lo-root 8 000

VIS-RO-1126-LRS-PZ 6 x 1 1/2" nº 1 Zinc Lo-root 7 000

VIS-RO-1128-LRS-PZ 8 x 1 1/2" nº 2 Zinc Lo-root 5 000

VIS-RO-1128-LRS-PP 8 x 1 1/2" nº 2 Lub Lo-root 5 000

VIS-RO-1346T7-LRS-PZ 7 x 1 3/4" nº 2 Zinc 2/3 Lo-root 5 000

VIS-RO-134T6-LRS-PZ 6 x 1 3/4" nº 1 Zinc 2/3 Lo-root 5 000

VIS-RO-1348-LRS-PP 8 x 1 3/4" nº 2 Lub Lo-root 4 000

VIS-RO-28-LRS-PZ 8 x 2" nº 2 Zinc Lo-root 3 500

VIS-RO-28-LRS-PP 8 x 2" nº 2 Lub  Lo-root 3 500

VIS-RO-2128-LRS-PP 8 x 2 1/2" nº 2 Lub Lo-root 2 500

VIS-RO-2128-LRS-PZ 8 x 2 1/2" nº 2 Zinc Lo-root 2 500

VIS-RO-38-LRS-PZ 8 x 3" nº 2 Zinc Lo-root 1 500

VIS-RO-38-LRS-PP 8 x 3" nº 2 Lub Lo-root 1 500

Nº d’article
 Product number 

Longueur
Length

Pointe
Bit

Fini
Plating Type Caisse 

Box

VIS-RO-1128-LRRS-PZ17 8 x 1 1/2" nº 2 Zinc
Lo-root recex 

17
5 000

VIS-RO-28-LRRS-PZ* 8 x 2" nº 2 Zinc Lo-root recex 3 500

VIS-RO-1348-LRRS-PZ 8 x 1 1/2" nº 2 Zinc Lo-root recex 4 000

Vis à bois à tête plate fraiseuse
Self-countersinking flat head wood screws
Tête plate auto-fraiseuse Robertson, filet Lo-root 
Robertson flat head self-countersinking screws with Lo-root thread

Tête plate auto-fraiseuse Recex (Robertson + Phillips), filet Lo-root 

Robertson (+ Phillips) flat Recex self-countersinking screws with Lo-root thread

D2 T 1 800 567-5201       F 1 800 567-5208       ventes@rocheleau.ca     sales@rocheleau.ca     ROCHELEAU.CA

Mise à jour / Updated 06-2018

 
*Sur commande / On request

MATÉRIEL D’ASSEMBLAGE
ASSEMBLY PART



Nº d’article
 Product number 

Longueur
Length

Pointe
Bit

Fini
Plating Type Caisse 

Box

VIS-RO-1148-PPW* 8 x 1 1/4" nº 2 Lubrifié
Lubricized Recex Candrill 7 500

VIS-RO-1348-PPW* 8 x 1 3/4" nº 2 Lubrifié
Lubricized Recex Candrill 4 000

Nº d’article
 Product number 

Longueur
Length

Pointe
Bit

Fini
Plating

Type Caisse 
Box

VIS-RO-1188-LR-WAZ 8 x 1 1/8" nº 2 Zinc Rondelle lo-root  
Lo-root washer 6 000

VIS-RO-1148-LR-WAZ 8 x 1 1/4" nº 2 Zinc Rondelle lo-root  
Lo-root washer 6 000

VIS-RO-1128-LR-WAP 8 x 1 1/2" nº 2 Lub Rondelle lo-root  
Lo-root washer 5 000

VIS-RO-1348-LR-WAZ 8 x 1 3/4" nº 2 Zinc Rondelle lo-root  
Lo-root washer 4 000

VIS-RO-28-LR-WAZ 8 x 2" nº 2 Zinc Rondelle lo-root  
Lo-root washer 3 000

VIS-RO-2128-LR-WAZ 8 x 2 1/2" nº 2 Zinc Rondelle lo-root 
Lo-root washer 2 500

VIS-RO-2128-LR17-WAZ 8 x 2 1/2” nº 2 ZINC
Rondelle lo-root type 17
Lo-root washer type 17

2500

VIS-RO-38-LR-WAZ 8 x 3" nº 2 Zinc Rondelle lo-root  
Lo-root washer 1 500

Round washer wood screws
Vis à bois à tête ronde avec rondelle

Vis à bois à tête fraiseuse
Countersunk wood screws

Nº d’article
 Product number 

Longueur
Length

Pointe
Bit

Fini
Plating Type Caisse 

Box

VIS-RO-1188-LRS-WFZ-17 8 x 1 1/8" nº 2 Zinc Lo-root type 17 5000

VIS-RO-2128-LRS-WFZ-17 8 x 2 1/2" nº 2 Zinc Lo-root type 17 2000

VIS-RO-38-LRS-WFZ-17 8 x 3" nº 2 Zinc Lo-root type 17 1500

Vis à bois tête wafer (CAB MAXX)
Wafer head wood screw (CAB MAXX)

RO
B

E
R

T S O N   S C R U
LO

X
                  

  
  

  
  

   

S C R E W S

Tête plate Recex (Robertson + Phillips) Candril
Flat head Recex (Robertson + Phillips) Candril screws

Tête ronde avec rondelle Robertson, filet 2/3 Lo-root 
Robertson round washer screws with 2/3 Lo-root thread

Mise à jour / Updated 06-2018

 D3

*Sur commande / On request

T 1 800 567-5201       F 1 800 567-5208       ventes@rocheleau.ca     sales@rocheleau.ca     ROCHELEAU.CA

MATÉRIEL D’ASSEMBLAGE
ASSEMBLY PARTS



Nº d’article
 Product number 

Longueur
Length

Pointe
Bit

Fini
Plating

Type
Caisse 

Box

VIS-RO-346-WTS-PANZ 6 x 3/4" nº 1 Zinc
Vis à bois taraudeuse

 Wood tapping 15 000

VIS-RO-588-LR-PANZ 8 x 5/8" nº 2 Zinc Lo-root 12 000

VIS-RO-588-LR-PANP 8 x 5/8" nº 2 Lub Lo-root 12 000

VIS-RO-9168-LR-PANZ 8 x 9/16" nº 2 Zinc Lo-root 12 000

Nº d’article
 Product number

Longueur
Length

Pointe
Bit

Fini
Plating Type Caisse 

Box

VIS-RO-588-LRR-PANP* 8 x 5/8"
Robertson /
Phillips nº 2

Lub Lo-root 12 000

VIS-RO-588-LRR-PANZ 8 x 5/8"
Robertson /
Phillips nº 2

Zinc Lo-root 12 000

VIS-RO-9168-LRR-PANP 8 x 9/16"
Robertson /
Phillips nº 2

Lub Lo-root 12 000

Vis à tête bombée
Pan head screws

Nº d’article
 Product number nº 

Longueur
Length

Pointe
Bit

Fini
Plating Type Caisse 

Box

VIS-RO-11168-LR-ON 8 x 11/16" nº 2 Nickel Lo-root 12 000

Nº d’article
 Product number 

Longueur
Length

Pointe
Bit

Fini
Plating Type Caisse 

Box
VIS-RO-EURO-10.5R 5 x 10,5 mm nº 1 Zinc Lo-root 12 000

VIS-RO-EURO-10.5R-2 5 x 10,5 mm nº 2 Zinc Lo-root 12 000

VIS-EURO-13MM 5 x 13 mm nº 2 Zinc Lo-root 7 500

Vis Euro
Euro screws

Vis Euro Robertson
Robertson Euro screws

Tête bombée Robertson filets Lo-root  
Robertson Pan head screws with Lo-root thread.

Tête bombée recex Robertson, filet Lo-root  
Robertson Recex pan head screws with Lo-root thread.

Tête ovale Robertson
Robertson oval head screws

D4 T 1 800 567-5201       F 1 800 567-5208       ventes@rocheleau.ca     sales@rocheleau.ca     ROCHELEAU.CA

Mise à jour / Updated 06-2018

 
*Sur commande / On request

MATÉRIEL D’ASSEMBLAGE
ASSEMBLY PART



Boulon mécanique
Machine screws

RO
B

E
R

T S O N   S C R U
LO

X
                  

  
  

  
  

   

S C R E W S

Nº d’article Pointe Longueur Fini
 Product number Bit Length Plating
BOM-832-14Z nº 2 8-32 x 1/4" Zinc
BOM-832-38Z nº 2 8-32 x 3/8" Zinc
BOM-832-12Z nº 2 8-32 x 1/2" Zinc
BOM-832-78Z nº 2 8-32 x 7/8" Zinc
BOM-832-1Z nº 2 8-32 x 1" Zinc

BOM-832-118Z nº 2 8-32 x 11/8" Zinc
BOM-832-114Z nº 2 8-32 x 11/4" Zinc
BOM-832-138Z nº 2 8-32 x 13/8" Zinc
BOM-832-112Z nº 2 8-32 x 1 1/2" Zinc
BOM-832-158Z nº 2 8-32 x 15/8" Zinc
BOM-832-134Z nº 2 8-32 x 1 3/4" Zinc

BOM-832-178Z nº 2 8-32 x 1 7/8" Zinc
BOM-832-2Z nº 2 8-32 x 2" Zinc

*BOM-832-214Z  nº 2 8-32 x 21/4" Zinc
BOM-832-212Z nº 2 8-32 x 21/2" Zinc

BOM-832-2-BA nº 2
8-32 x 21/2" 

à couper/ break away
Zinc

Nº d’article Pointe Longueur Fini
 Product number Bit Length Plating

BOM-M4-10MM nº 2 M4 x 10 mm Zinc
BOM-M4-12MM nº 2 M4 x 12 mm Zinc
BOM-M4-20MM nº 2 M4 x 20 mm Zinc
BOM-M4-22MM nº 2 M4 x 22 mm Zinc
BOM-M4-25MM nº 2 M4 x 25 mm Zinc
BOM-M4-30MM nº 2 M4 x 30 mm Zinc
BOM-M4-35MM nº 2 M4 x 35 mm Zinc
BOM-M4-40MM nº 2 M4 x 40 mm Zinc
BOM-M4-45MM nº 2 M4 x 45 mm Zinc
BOM-M4-50MM nº 2 M4 x 50 mm Zinc

BOM-M4-50MM-BA nº 2
M4 x 50 mm 

à couper / break away
Zinc

Boulon mécanique 8/32 à tête truss combinée. Emballage de 100 unités.
Robertson 8-32 combination truss head machine screws.

Boulon mécanique M4 à tête truss combinée. 
Robertson M4 combination truss head machine screws. 

Mise à jour / Updated 06-2018

 D5

*Sur commande / On request

T 1 800 567-5201       F 1 800 567-5208       ventes@rocheleau.ca     sales@rocheleau.ca     ROCHELEAU.CA

MATÉRIEL D’ASSEMBLAGE
ASSEMBLY PARTS



POT-RPT-EURO-2 Pointe tournevis euro nº 2 x 2"
Pozi drive nº 2 x 2"

Pointe de tournevis Robertson
Robertson screw driver bits

Nº d’article
Product number

Grosseur de la 
pointe

Bit sizes

Couleur
Colour

Longueur
Length

Pour vis # 
Screw sizes

POT-RPT-11 nº 1 Vert / green 1" 5,6,7

POT-RPT-12 nº 2 Rouge / red 1" 8,9,10

POT-RPT-21 nº 1 Vert / green 2" 5,6,7

POT-RPT-22  nº 2 Rouge / red 2" 8,9,10

POT-RPT-30 nº 0 Jaune / yellow 3" 3,4

POT-RPT-31 nº 1 Vert / green 3" 5,6,7

POT-RPT-31-A nº 1 aimanté  
magnetized n/a 3" 5,6,7

POT-RPT-32 nº 2 Rouge / red 3" 8,9,10

POT-RPT-32-A nº 2 aimanté  
magnetized n/a 3" 8,9,10

POT-RPT-33 nº 3 Noir / black 3" 10,12,14

POT-RPT-41 nº 1 Vert / green 4" 5,6,7

POT-RPT-42 nº 2 Rouge / red 4" 8,9,10

POT-RPT-61 nº 1 Vert / green 6" 5,6,7

POT-RPT-62 nº 2 Rouge / red 6" 8,9,10

Pointe de tournevis Robertson 
Robertson screwdriver bits

Pointe de tournevis pozidrive
Pozidrive screw driver bit

D6 T 1 800 567-5201       F 1 800 567-5208       ventes@rocheleau.ca     sales@rocheleau.ca     ROCHELEAU.CA

Mise à jour / Updated 06-2018

 
*Sur commande / On request

MATÉRIEL D’ASSEMBLAGE
ASSEMBLY PART



Steel brackets

EQU-7482-DB
Acier brut
raw steel

EQU-7482-D Zinc

dim: 3/4" x 3/4" x 11/2"

Calibre / gauge 18
Caisse /Box 2 000

EQU-135-B Acier brut/ raw steel

EQU-135 Zinc

dim: 3/4" x 3/4" x 3/4"

Calibre / gauge 18
Caisse /Box 5 000

EQU-7482-B Acier brut/ raw steel

EQU-7482 Zinc

dim: 3/4" x 3/4" x 3/4"

Calibre / gauge 18
Caisse /Box 5 000

EQU-175-B
Acier brut
 raw steel

EQU-175 Zinc

dim: 1" x 1"x 13/4"

Calibre / gauge 18
Caisse /Box 1 000

Serre-joint 

Nº d’article
Dimensions

Paquet Caisse 

Product number Pack Box

SRJ-SJ-3 1/4" x 3 " 4 400
SRJ-SJ312 1/4" x 3 1/2" 4 400

Joint Fastener

Biscuit de bois

BIS-900-00 

BIS-900-10 

BIS-900-20

Wood biscuit

(1" X 2 3/8")

(3/4" x 2 1/8")

(5/8" x 1 3/4")

Les biscuits alignent les pièces de bois tout en 
rendant le joint plus solide.
La colle fait gonfler le biscuit ce qui a pour effet de 
renforcer l’assemblage.

The biscuits are used to align two pieces of wood and 
also strengthen the joint. 
The glue swells the biscuit has the effect of strengthe-
ning the assembly.

Serre joint pour panneaux et comptoir.

Joint fastener for countertop and panels

 

Équerre et ferrure

Mise à jour / Updated 06-2018

 D7

*Sur commande / On request

T 1 800 567-5201       F 1 800 567-5208       ventes@rocheleau.ca     sales@rocheleau.ca     ROCHELEAU.CA

MATÉRIEL D’ASSEMBLAGE
ASSEMBLY PARTS



Joint connectors
Boulons d’assemblage

nº Nom et type
Type and name Image

Dessin technique
Technical drawing

Dimensions 
Min. - max.

Filets
Threads

1
Vis d’assemblage pour bois

Type : BW,CW
Joint connector screw

L = 1,181"- 2,756"

L1 = 0,787" - 2,362"

L = 30 mm - 70 mm

L1 = 20 mm - 60 mm

Dia :17 mm

3/16  7/32 

2
Boulons d’assemblage

Type : BA
Joint connector screw

L = 0,690"- 3,93"

L1 = 1,378"

L = 18 mm - 100 mm

L1 = 60 mm

Dia :17 mm

1/4 - 20

3
Boulons d’assemblage

Type : BB
Joint connector screw

L = 0,590"- 3,937"

L1 = 0,494" - 1,575"

L = 15 mm - 100 mm

L1 =12,5 mm - 40 mm

Dia :13 mm - 17 mm

1/4 - 20 5/16 -18

4
Vis d’assemblage pour bois

Type : SCS
Joint connector wood screw

L = 1,653"- 2,834"

L1 = 1,240" - 2,362"

L = 40 mm - 72 mm

L1 = 32 mm - 60 mm

D1 = 7 mm - 10 mm

D2 = 3 mm - 4,5 mm

1/8  7/32

5

Écrous à visser

Type : D
Screw-in insert nut with 

flange

L = 0,394"- 0,984"

L1 = 0,787" - 0,180"

L = 10 mm - 25 mm

L1 =20 mm - 4,6 mm

D1 = 7 mm - 10 mm

D2 = 3 mm - 4,5 mm

8/32  3/8 - 16

6
Goujons d’assemblage

Type : JCD
Connector cross dowel

L = 0,500"- 1,023"

L1 =0,250" - 0,511"

L = 12,7 mm - 26 mm

L1 = 6,3 mm - 13 mm

D1 : 10 mm - 16 mm

10 - 24 3/8 - 16

7
Écrous décoratifs

Type : D
Decorative cap inserts

L = 0,394"- 0,602"

L1 = 0,320" - 0,494"

L = 30 mm - 70 mm

L1 = 20 mm - 60 mm

D1:11 mm - 16 mm

D2 = 8 mm - 12 mm

D3 = 6 mm - 9,8 mm

8/32 5/16 - 18

To u s  l e s  i t e m s  d u  t a b l e a u  c i - d e s s u s  s o n t  o f f e r t s  s u r  c o m m a n d e  s p é c i a l e  e t  a s s u j e t t i s  à  d e s  q u a n t i t é s  m i n i m u m .

Ve u i l l e z  c o m m u n i q u e r  a v e c  n o u s  p o u r  p l u s  d e  d é t a i l s .
A l l  h a r d w a r e  l i s t e d  a b o v e  a r e  a v a i l a b l e  t h r o u g h  s p e c i a l  o r d e r ;  m i n i m u m  q u a n t i t i e s  a p p l y .  C a l l  f o r  d e t a i l s .

Écrous et boulons d’assembage en SAE et métrique . Finis offerts : bronze, laiton , zinc, nickel et noir oxydé.
*Connector nuts and screws available in SAE and metric sizes. Available finishes: bronze, brass, black oxyde, nickel and zinc.

D8 T 1 800 567-5201       F 1 800 567-5208       ventes@rocheleau.ca     sales@rocheleau.ca     ROCHELEAU.CA

Mise à jour / Updated 06-2018

 
*Sur commande / On request

MATÉRIEL D’ASSEMBLAGE
ASSEMBLY PART



Junction bolts
Boulons d’assemblage

nº Nom et type
Type and name Image

Dessin technique
Technical drawing

Dimensions 
Min. - max.

Filets
Threads

8
Écrou de finition

Type : JCN
Steel decorative nut

L = 0,630"- 0,669"

L1 = 0,413" - 0,512"

L = 16 mm - 17 mm

L1 =10,4 mm - 13 mm

D1:13 mm - 17 mm

D2 = 6 mm - 11 mm

10-245/16-18

9
Écrous à enfoncer

Type : A
Knock-in insert nut

L = 0,315"- 0,512"

L1 = 0,228" - 0,291"

L = 8 mm - 13 mm

L1 = 6 mm - 13 mm

D1 : 5,7 mm - 7,3 mm

D2 = 8 mm - 11,7 mm

D3 = 6 mm - 9 mm

8/321/4-20

10
Écrous à enfonçer

Type : B
Knock-in insert nut

L = 0,315"- 0,830"

L1 = 0,217" - 0,327"

L = 8mm - 13mm

L1 = 5,7 mm -16,2 mm

D1 : 10,4 mm - 19 mm

D2 = 7,6 mm - 12,6 mm

D3 = 6 mm - 10 mm

8/325/16 - 18

11
Écrous de finition

Type : JZN
Die cast decorative nut

L = 0,625"

L1 =0,480"

L = 16 mm

L1 =12 mm 

D1 : 12,7 mm

h = 0,126"-3,02 mm

D3 = 6 mm - 7,8 mm

8/32  1/4 - 20

12

Écrous à visser 

sans épaulement

Type : E
Screw-in insert nut without 

flange

L = 0,374"- 0,984"

L1 = 0,140" - 0,173"

L = 9,4 mm - 25 mm

L1 =3,5 mm - 4,3 mm

D2 = 6,9 mm - 14 mm

D3 = 5 mm - 10 mm

6/325/16 - 18

1 3
Écrous en T

Type : 4 pointes 
Straight barrel T-nut

Dia = 9/16"-1 1/4"

B = 3/8" - 9/16"

C = 0,162" - 0,305"

D = 9/64" - 1/4"

T = 0,039" - 0,059"

4 - 405/8 - 11

To u s  l e s  i t e m s  d u  t a b l e a u  c i - d e s s u s  s o n t  o f f e r t s  s u r  c o m m a n d e  s p é c i a l e  e t  a s s u j e t t i s  à  d e s  q u a n t i t é s  m i n i m u m .

Ve u i l l e z  c o m m u n i q u e r  a v e c  n o u s  p o u r  p l u s  d e  d é t a i l s .
A l l  h a r d w a r e  l i s t e d  a b o v e a r e  a v a i l a b l e  t h r o u g h  s p e c i a l  o r d e r ;  m i n i m u m  q u a n t i t i e s  a p p l y .  C a l l  f o r  d e t a i l s .

Écrous et boulons d’assembage en SAE et métrique . Finis offerts : bronze, laiton , zinc, nickel et noir oxydé.
*Connector nuts and screws available in SAE and metric sizes. Available finishes: bronze, brass, black oxyde, nickel and zinc.

Mise à jour / Updated 06-2018

 D9

*Sur commande / On request

T 1 800 567-5201       F 1 800 567-5208       ventes@rocheleau.ca     sales@rocheleau.ca     ROCHELEAU.CA

MATÉRIEL D’ASSEMBLAGE
ASSEMBLY PARTS



Boulons d’assemblage
Joint connectors

nº Nom et type
Type and name Image

Dessin technique
Technical drawing

Dimensions 
Min. - max.

Filets
Threads

14
Écrous en T

Type : Hopper feed
Round base T-nut

Dia=3/4"-1"

B=5/16" - 7/16"

C=0,305" - 0,440"

D=17/64-11/32"

T =0,039" - 0,051"

1/4 - 20 3/8 - 24

15
Écrous en T

Type : Hopper feed
Locking T-nut

Dia=11/16"-53/64"

B=7/16" - 5/8"

C=0,243" - 0,370"

D=3/16" -3/8"

T =0,047" - 0,051"

10 - 24 5/16 -18

16
Écrous en T

Type : Weld nut
Slab base T-nut

Dia=9/16"-3/4"

B=1/4" - 7/8"

C=0,162" - 0,305"

T =0,024" - 0,047"

6/32 1/4 - 28

17
Écrous en T

Type : Weld nut
Round base T-nut

Dia=3/8"-3/4"

B=1/8" - 1/4"

C=0,138" - 0,305"

T =0,024" - 0,047"

4 - 401/4 -20

18
Écrous en T

Type : Propel nut
Round base T-nut

Dia=23/32"-3/4"

B=1/4" - 5/8"

C=0,203" - 0,370"

T =0,024" - 0,047"

8/32 5/16 - 18

19
Écrous hexagonale

Type : NYN
Hex nut

Dia=9/16"-3/4"

f=0,339" - 0,5578"

g=0,374" - 0,642"
8/32 3/8 - 16

To u s  l e s  i t e m s  d u  t a b l e a u  c i - d e s s u s  s o n t  o f f e r t s  s u r  c o m m a n d e  s p é c i a l e  e t  a s s u j e t t i s  à  d e s  q u a n t i t é s  m i n i m u m .

Ve u i l l e z  c o m m u n i q u e r  a v e c  n o u s  p o u r  p l u s  d e  d é t a i l s .
A l l  h a r d w a r e  l i s t e d  a b o v e  a r e  s u b j e c t  t o  m i n i m u m  a n d  s p e c i a l  o r d e r ,  c a l l  f o r  d e t a i l s

Écrous et boulons d’assembage en SAE et métrique . Finis offerts : bronze, laiton, zinc, nickel et noir oxydé.
*Connector nuts and screws available in SAE and metric sizes. Available finishes: bronze, brass, black oxyde, nickel and zinc.

D10 T 1 800 567-5201       F 1 800 567-5208       ventes@rocheleau.ca     sales@rocheleau.ca     ROCHELEAU.CA

Mise à jour / Updated 06-2018

 
*Sur commande / On request

MATÉRIEL D’ASSEMBLAGE
ASSEMBLY PART



To u s  l e s  i t e m s  d u  t a b l e a u  c i - d e s s u s  s o n t  a s s u j e t t i s  à  d e s  q u a n t i t é s  m i n i m a l e s  p o u r  c o m m a n d e s  s p é c i a l e s ,

v e u i l l e z  c o m m u n i q u e r  a v e c  n o u s  p o u r  p l u s  d e  d é t a i l s .
A l l  h a r d w a r e  l i s t e d  a b o v e  a r e  s u b j e c t  t o  m i n i m u m  a n d  s p e c i a l  o r d e r ,  c a l l  f o r  d e t a i l s

Bolts
Boulons

nº Nom et type
Type and name

Dimensions 
Min. - max. 

Dessin technique
Technical drawing

Caisse
Box

Filet
Threads

Filets
Threads

Z-ECR-D1413-ZN

Écrous à visser

Type : D

Screw-in insert nut

Clé hexagonale

6 mm

hex key

L = 0.512"

L1 =0.130"

L = 20mm

L1 =3.3mm

D1 = 0.492"

D2 = 0.461"

D3 = 0.307"

4000
Préperçage

11/32 - 23/64
Pilot hole

Filets

1/4 - 20
Threads

Z-ECR-D5625-ZN

Écrous à visser

Type : D

Screw-in insert nut

Clé hexagonale

8 mm

 hex key

L = 0.984"

L1 =0.180"

L = 25mm

L1 =4.6mm

D1 = 0.571

D2 = 0.543

D3 = 0.374

1400
Préperçage

7/16- 1/2
Pilot hole

Filets

5/16 - 18
Threads

Z-ECR-T14-20

Écrous en T

Type : 4 pointe

4 prongs

T-nut

Dia=3/4"

B=5/16" 

C=0.305"

D=15/64"

5000
Préperçage

5/16"
Pilot hole

Filets
1/4 - 20
Threads

Z-ECR-T516-18

Écrous en T

Type : 4 pointes 

4 prongs

T-nuts

Dia=53/64"x13/16"
B=3/8" 

C=0.370" 

D=5/16"
T=0.51"

2500
Préperçage

3/8"
Pilot hole

Filets
5/16 - 18
Threads

Z-ECR-56186EH-DB

Écrous en T

 rectangulaire

Type : 4 pointes 

Rectangular base 

4-prong T-nut

Dia=53/64"x13/16"
B=5/8" 

C=0.370" 

D=0.375"

T=0.51"

2500
Préperçage

3/8"
Pilot hole

Filets
5/16 - 18
Threads

Programme en inventaire / Stock program

Tire-fond
Lag screw

Boulon de carrosserie
Carriage bolt

Goujons fileté
Dowel screws

Boulon de pattes
Hanger bolt

Dimensions longueur/ length

1/4" - 5/16" 3/8" - 1/2" 3/4" 1" 1 1/4" 1 1/2" 1 3/4" 2" 2 1/2" 3" 3 1/2" 4" 4 1/2" 5" 6"

Nuts
Écrous

Mise à jour / Updated 06-2018

 D11

*Sur commande / On request

T 1 800 567-5201       F 1 800 567-5208       ventes@rocheleau.ca     sales@rocheleau.ca     ROCHELEAU.CA

MATÉRIEL D’ASSEMBLAGE
ASSEMBLY PARTS



ATT-MF-625-1.5

Attache en «Z» de 1 7/8" x 1 1/2" pour accrochage 
de panneaux et caissons.

ATT-MF-625-72

1 7/8" x 72" Z-clips for hanging panels and cabinets

47,7mm

5,15mm

(17⁄8")

(3⁄16")

Attaches en «Z»

"Z" clips

1 7/8" x 1 1/2" Z-clips for hanging panels and cabinets

Attache en «Z» 1 7/8" x 72" pour accrochage de 
panneaux et caissons.

Cache-vis

CAV-1001-W

Cache-vis en plastique blanc de 1/2" de diamètre, pour vis 
nº 8, pointe nº 2.

Screw covers

1/2" diameter white plastic screw cover for nº 8 with nº 2 punch.

D12 T 1 800 567-5201       F 1 800 567-5208       ventes@rocheleau.ca     sales@rocheleau.ca     ROCHELEAU.CA

Mise à jour / Updated 06-2018

 
*Sur commande / On request

MATÉRIEL D’ASSEMBLAGE
ASSEMBLY PART



Nº d’article / Product# dim. (mm) Boîte / Box

GOU-GM7830EV* 7,8 X 30 20 000

GOU-GM830EV 8 x 30 20 000

GOU-GM835EV 8 x 35 20 000

GOU-GM8230EV 8,2 x 30 20 000

GOU-GM8235EV* 8,2 x 35 20 000

Nº d’article / Pro-
duct# dim. (mm) Boîte / Box

Z-GOU-B825 8 x 25 25 000

GOU-B830 8 x 30 20 000

GOU-B835 8 x 35 20 000

Goujons de bois rainuré et calibré.

Goujon de bois verts préencollé, rainuré et 
calibré.

Goujon

Nº d’article / Product# dim. (mm) Boîte / Box

GOU-P827 8 x 27 10 000
Goujon de plastique rainuré et calibré. 

Dowels

Pre-glued grooved and gauged green dowel

Grooved and gauged wood dowels

Grooved and gauged plastic dowels

Mise à jour / Updated 06-2018

 D13

*Sur commande / On request

T 1 800 567-5201       F 1 800 567-5208       ventes@rocheleau.ca     sales@rocheleau.ca     ROCHELEAU.CA

MATÉRIEL D’ASSEMBLAGE
ASSEMBLY PARTS




	Flat head countersunk wood screws
	Self-countersinking flat head wood screws
	Wafer head wood screw (CAB MAXX)
	Round washer wood screws
	Countersunk wood screws
	Pan head screws
	Euro screws
	Machine screws
	Screwdriver bits
	Joint Fastener
	Wood biscuit
	Steel brackets
	Junction bolts
	Nuts
	Bolts
	"Z" clips
	Screw covers
	Dowels
	VIS-RO-585-LR-PZ
	z-VIS-RO-586-LR-PP
	VIS-RO-586-LR-PZ
	VIS-RO-586-2-LR-PZ
	VIS-RO-587-2-WT-PZ
	VIS-RO-16-PZ
	VIS-RO-126-LR-PZ
	VIS-RO-1188-LR-PZ
	VIS-RO-1146-LR-PP*
	VIS-RO-1148-LR-PP*
	VIS-RO-1126-LR-PP*
	VIS-RO-1346-LR-PP
	VIS-RO-28-LR-PP*
	VIS-RO-2128-LR-PZ*
	VIS-RO-38-LR-PP
	VIS-RO-38-LR-PZ
	VIS-RO-48-LR-PZ
	VIS-RO-586-LRR-PZ*
	VIS-RO-18-LRR-PZ
	VIS-RO-18-LRS-PP*
	VIS-RO-1188-LRS-PP
	VIS-RO-1188-LRS-PZ
	VIS-RO-1146-LRS-PZ
	VIS-RO-1148-LRS-PP
	VIS-RO-1148-LRS-PZ
	VIS-RO-1126-LRS-PZ
	VIS-RO-1128-LRS-PZ
	VIS-RO-1128-LRS-PP
	VIS-RO-1346T7-LRS-PZ
	VIS-RO-134T6-LRS-PZ
	VIS-RO-1348-LRS-PP
	VIS-RO-28-LRS-PZ
	VIS-RO-28-LRS-PP
	VIS-RO-2128-LRS-PP
	VIS-RO-2128-LRS-PZ
	VIS-RO-38-LRS-PZ
	VIS-RO-38-LRS-PP
	VIS-RO-1128-LRRS-PZ17
	VIS-RO-28-LRRS-PZ*
	VIS-RO-1348-LRRS-PZ
	VIS-RO-1148-PPW*
	VIS-RO-1348-PPW*
	VIS-RO-1188-LR-WAZ
	VIS-RO-1148-LR-WAZ
	VIS-RO-1128-LR-WAP
	VIS-RO-1348-LR-WAZ
	VIS-RO-28-LR-WAZ
	VIS-RO-2128-LR-WAZ
	VIS-RO-2128-LR17-WAZ
	VIS-RO-38-LR-WAZ
	VIS-RO-1188-LRS-WFZ-17
	VIS-RO-2128-LRS-WFZ-17
	VIS-RO-8-LRS-WFZ-17
	VIS-RO-588-LRR-PANP*
	VIS-RO-588-LRR-PANZ
	VIS-RO-9168-LRR-PANP
	VIS-RO-346-WTS-PANZ
	VIS-RO-588-LR-PANZ
	VIS-RO-588-LR-PANP
	VIS-RO-9168-LR-PANZ
	VIS-RO-11168-LR-ON
	VIS-RO-EURO-10.5R
	VIS-RO-EURO-10.5R-2
	VIS-EURO-13MM
	BOM-832-14Z
	BOM-832-38Z
	BOM-832-12Z
	BOM-832-78Z
	BOM-832-1Z
	BOM-832-118Z
	BOM-832-114Z
	BOM-832-138Z
	BOM-832-112Z
	BOM-832-158Z
	BOM-832-134Z
	BOM-832-178Z
	BOM-832-2Z
	BOM-832-214*
	BOM-832-212Z
	BOM-832-2-BA
	BOM-M4-10MM
	BOM-M4-12MM
	BOM-M4-20MM
	BOM-M4-22MM
	BOM-M4-25MM
	BOM-M4-30MM
	BOM-M4-35MM
	BOM-M4-40MM
	BOM-M4-45MM
	BOM-M4-50MM
	BOM-M4-50MM-BA
	POT-RPT-11
	POT-RPT-12
	POT-RPT-21
	POT-RPT-22
	POT-RPT-30
	POT-RPT-31
	POT-RPT-31-A
	POT-RPT-32
	POT-RPT-32-A
	POT-RPT-33
	POT-RPT-41
	POT-RPT-42
	POT-RPT-61
	POT-RPT-62
	EQU-7482
	EQU-135
	SRJ-SJ-3
	SRJ-SJ312
	EQU-7482-D
	EQU-175
	BIS-900-20
	BIS-900-10 
	BIS-900-00 
	z-ECR-D1413-ZN
	Z-ECR-D5625-ZN
	z-ECR-T14-20
	z-ECR-T516-18
	Z-ECR-56186EH-DB
	ATT-MF-625-1.5
	ATT-MF-625-72
	CAV-1001-W
	Z-GOU-B825
	GOU-B830 
	GOU-B835
	GOU-GM7830EV*
	GOU-GM830EV
	GOU-GM835EV
	GOU-GM8230EV
	GOU-GM8235EV*
	GOU-P827
	Vis à bois à tête plate fraisée 
	Vis à bois à tête plate fraiseuse
	Vis à bois tête wafer (CAB MAXX)
	Vis à bois à tête ronde avec rondelle
	Vis à bois à tête fraiseuse
	Vis à tête bombée
	Vis Euro
	Boulon mécanique
	Pointe de tournevis Robertson 
	Biscuit de bois
	Équerre et ferrure
	Serre-joint 
	Boulons d’assemblage
	Boulons d’assemblage
	Boulons d’assemblage
	Boulons
	Écrous
	Attaches en «Z»
	Cache-vis
	Goujon

